® fesdleaft I 3= T 2
(A) JATJ AIAT © € 763 8397 @ &H &)
(T) 393 © ¢ I3 f&dT g39f @ At = aH THI
(@) far Gevfoa ISt © W3 Ry gz niefaa yaat e
yA3< " ?
(") ARSt (GST) 3 af 3= I ? of feg figr 2an I A
niffd 27 ?
@) &3 oo & gfiar ot I 7
(W) 393 T € AZ I I3 FU-THeI feait T I EHI
(®) 393 feg Hidaret § vz ®Et e € AeaE fed|
(@) goudt J&iEt e o nigg T 7
(8) 393 g vasT »itiar & Aqr 9% 8 w Hass @ &1
TR
Frar-nf
393 & udtest © Wdse & Aoy &g </
393 &g ot rug @ u-Jy fIfidt & foufimr a9)
FI-T
H63d 439 © Beviar § sans fa€ I 39 I8 7 Hu9 et
Bue 36l
393 {9 W »3 I Bedar Tt yEa®T 979 €H1 HUT
e Bue FIE|
FA-H
333 &8 gg-IHeIt feadt © g i3 wiglE &t I8 2
FIIE AIBG feo wie € I35 of 96 ? U9 BET Bue g6
FA-T
3793 &8 miafaa wrsEet Tt yugeit »3 wiRess= &t
J6 7
dguaral © 96t o fenrfinr 91 fer mifier @ 35 st
Bue g3l

0517/NN-17488(T) 4 16000

@
(i)

Time Allowed : Three Hours]

1.

0517/NN-17488(T) i

Printed Péges: 4 Roll No.
Sub.Code: [0] S| 1] 7

Questions b 4

Exam.Code: [0]10[0]6

B.A./B.Sc. (General) 6™ Semester
(2040)
ECONOMICS (In all Mediums)

Paper—Indian Economy
[Maximum Marks : 90

Hote: Attempt 50% of Total Questions of Question Paper. Time: 2 Hours

All will carry equal marks. Fraction will be lower digit.

—25t0-30 Words.
n i %
carrt marks.
PART-A

(a) What is meant by organic farming ?

(b) What is meant by green revolution ?

(c) What is meant by subsistence cultivation ?

(d) Name the two the central government public sector
undertakings.

(e) Name the two largest private sector banks in India.

(f) Mixed economic system was proposed in which industrial
policy resolution ? ;

(g) What is meant by GST ? Is it direct tax or indirect
tax ? ~

(h) What is the role of Finance Commission ?

(i) Name the two largest multinational corporations in India.

(J) Write any two indexes to measure inflation in India.

(k) What is meant by multi dimensional poverty ?

(1) Name the organization that came into existence in the
place of Planning Commission in India.

PART-B
Briefly explain the importance of agriculture in India.
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Explain various components of land reforms in India.
PART-C
Why are public sector enterprises incurring losses ? Suggest
measures for improvement.
Explain the problems of small and cottage industries in India,
suggest measures for improvement.
PART-D
What are the merits and demerits of multinational corporations
in India ?
What are the causes of deficit in balance of payments ?
- Suggest measures for improvement.
PART-E
What are the achievements and failures of economic planning
in India ?
Explain the causes of unemployment, suggest measures to
solve the problem. s
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